
Name ___________________________        Date __________  
 

Name the angles of elevation and depression in each diagram. 

            

 

 

 

 

Angle of elevation______________   Angle of elevation______________ 

Angle of depression____________   Angle of depression_____________ 

 

Solve each of the following word problems. 

 
  
 
 
 

 
 
 
 

 
  
 
 
 
 

 
 
 
 

 
A hiker dropped his backpack over one side of a canyon onto a ledge below.  Because of the shape of the cliff, he could 
not see exactly where it landed.  From the other side, the park ranger reports that the angle of depression to the 
backpack is 320.  If the width of the canyon is 115 feet, how far down did the backpack fall?  Round your answer to the 
nearest whole foot. 
 

 
 
 



 

 
 
 

 

 
 
 

 

 
 

 

A boat on a lake is 550 yards from the base of a vertical cliff. The person in the boat looks up to the top of the 

cliff and notices a person. The boater’s angle of elevation to the top of the cliff is 65
o
.  

 

a)  Find the height of the cliff. 

 

b)  For the person at the top of the cliff, what is the angle of depression? 

 

c)  The boat drifts 100 yards further away from the cliff. What is the new 

angle of elevation allowing the boater to, again, see the person at the top 

of the cliff? 
 
 
 
 

 


